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5. ysoy&ysoy&ysoy&ysoy&3    [ izoDrk ds fy,izoDrk ds fy,izoDrk ds fy,izoDrk ds fy, ]    
Hkkx&I  % cky fodkl o f'k{kk 'kkL= [ç'u 1 ls ç'u 30]    
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  ¼ek=kRed ;ksX;rk % 10 iz'u] rkfdZd vfHk{kerk % 10 iz'u] lkekU; 

Kku ,oa vfHkKku % 10 iz'u½ 
Hkkx&IV % lekt'kkL= [ç'u 91 ls ç'u 150] 

        
5. Level–3 [ For Lecturer ] 

PART–I : Child Development and 

                                      Pedagogy  [Qn. 1 to Qn. 30] 

PART–II  : Language : [Qn. 31 to Qn. 60] 

  (Hindi : 15 Qn. & English : 15 Qn.)  

PART–III : General Studies : [Qn. 61 to Qn. 90] 

  (Quantitative Aptitude : 10 Qn, Reasoning 

Ability : 10 Qn, G. K. & Awareness  : 10 Qn.) 

PART–IV : Sociology [Qn. 91 to Qn. 150] 

iz'u&iqfLrdk Øekad ,oa vks-,e-vkj- Øekad 
Question-Booklet Serial No. & O. M. R. Serial No. 
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H kk xH kk xH kk xH kk x – I / PART – I 

c ky fo d k l o f 'k {k k 'kk L=c ky fo d k l o f 'k {k k 'kk L=c ky fo d k l o f 'k {k k 'kk L=c ky fo d k l o f 'k {k k 'kk L= / CHILD DEVELOPMENT AND PEDAGOGY 

fu ns Z 'k  %fu ns Z 'k  %fu ns Z 'k  %fu ns Z 'k  %  f uEufy f[ kr iz'uk s a d s m Ù kj ns us d s f y, l c ls m fprl c ls m fprl c ls m fprl c ls m fpr     f od Yi pq f u,A 
Direction :  Answer the following questions by selecting the most appropriate option. 

1. lk ek ftd  :i l s o a fp r cPpk s a d s fy, fd l 
iz d kj d h f'k {kk m i; q Dr gk s xh  \  
 

1) v u kS ipkf jd  f 'k{k k 

2) f of 'k"V f 'k {kk  

3) l eko s'kh  f 'k{kk  

4) /k kf eZ d  f'k {kk 

  

1. Which type of education would be 

appropriate for socially deprived 

children ? 

1) Informal education 

2) Special education 

3) Inclusive education 

4) Religious education 

2. fu Eu fyf [k r es a ls dkS u &l k d F ku ,f jDlu 
d s eu ks&lk ek ftd  fo d kl fl) k a r ds 
v Ur xZ r f d 'kks jk oLF k k d s la c a/k esa lghlghlghlgh  
gS \ 

1) vga&igpku ,d /kukRed euks&lkekftd 
igyw gSA 

2) vga&igpku ,d _.kkRed euks&lkekftd 
igyw gSA 

3) v ga&igpk u , d  rV LF k e uk s&l ke kft d 
igyw gSA  

4) v ga&igpk u d k s bZ eu ks&lke kf td  igyw 
gh u gh a gSA  

  

2. Which of the following statement is 

correct regarding adolescence, 

under Erikson's Psycho-social 

development theory ? 

1) Ego-identity is a positive 

psycho-social aspect. 

2) Ego-identity is a negative 

psycho-social aspect. 

3) Ego-identity is a neutral 

psycho-social aspect. 

4) Ego-identity is not just a 

psycho-social aspect. 

3. , d  l tZ u'k hy ck yd  e sa fuEu fyf [k r esa ls 
d k S u&lh  f o'k s "kr k u ghau ghau ghau gha  ns [k h tkr h gS \ 

1) v ilk jh  f pa r u 

2) v f r ftK kl k 

3) m Pp d Yiuk, ¡ 

4) ijEijk xr f op kj  

  

3. Which of the following characteristic 

is not seen in a creative child ? 

1) Divergent thinking 

2) Extreme curiosity 

3) High imaginations 

4) Conventional thoughts 
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4. fu Eu fyf [k r es a l s d kS u&lh  f o'ks " kr k  
lk ek thd j. k d h iz fØ ;k ij ld k jkRe d  
izH kko u ghau ghau ghau gha Mk yr h gS \ 

1) l kek ftd  :i ls Loh Ñ r O;o gk j 

2) Lo hÑ r lke kf td  H kw fe d k,¡ fu H kku k 

3) l kek ftd  v f H ko` fÙ k d k  f odk l 

4) l kek ftd  iw o kZ xz gk s a d k f od kl 

  

4. Which of the following characteristics 

does not have a positive effect on the 

process of socialization ? 

1) Socially approved behaviour 

2) Playing approved social roles 

3) Development of social attitude 

4) Development of social 

prejudices 

5. o k; xk s V~Ld h  d k ^ leh iLF k fo d kl  {ks= * 
la nfH k Z r d jrk  gS % 

1) c Ppk Lor a = :i l s D; k  d j l d rk    
gS 

2) c Ppk Lo ra =  :i ls D; k  ugha d j 
l d rk  gS 

3) c Ppk fd lh Kk uh O; fDr d s fu ns Z'ku  ea s 
D; k d j l d rk  gS 
 

4) c Ppk fd lh Kk uh O; fDr d s fu ns Z'ku  es a 
H k h D; k ugh a d j ld r k gS 

  

5. Vygotsky's 'Zone of Proximal 

Development' refers to : 

1) What the child can do 

independently 

2) What the child can't do 

independently 

3) What the child can do with 

guidance of knowledgeable 

person 

4) What the child can't do even 

under guidance of 

knowledgeable person 

6. ; fn d k sbZ f 'k{k kF kh Z v is f{kr m iy fC/k  gkfl y 
u gh au gh au gh au gh a  d j ikr k gS] rks m l d k d kj. k tk uus 

d s fy, fd l iz d kj d k ijh{k .k  f d ;k  t krk 
gS \ 

1) jpu kR ed  

2) f unku kRe d 

3) m ip kjkR ed   

4) ; ks xkRe d  

  

6. If a learner does not  achieved the 

expected performance, what type 

of testing is done to find out the 

reason ? 

1) Formative  

2) Diagnostic 

3) Remedial  

4) Summative 
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7. ^^ l ek os'ku  d s oy  fnO; ka x y ks xks a rd gh 
lh fe r ugha gS]  c fYd  bl d k v F kZ f d lh  H kh 
c Pps d k cf g" d kj u gks uk  H k h gSA ** 
 f 'k{kk  e s a le ko s'ku  dk  ; g v F kZ fd lds 
}k jk Li" V fd ; k x;k  gS \ 
1) , u0  l h0  ,Q 0  2005  
2) , u0  l h0  bZ0  v k j0  V h0  
3) ; w us Ld k s 
4) ; w fu ls Q 

  
7. "Inclusion is not confined to the 

disabled but it also mean no 

exclusion of any child." 

 This meaning of inclusion in 

education has been clarified by : 

1) NCF 2005 

2) NCERT 

3) UNESCO 

4) UNICEF 

8. o ` f)  ,o a f od k l es a fd l  iz d kj d s ifjo rZ u 
gks r s gS a \ 
(a) 'k jh j d s v kd kj e sa if jo r Zu  
(b) 'k jh j d s v uq ik r es a ifjor Zu 
(c) iq jku s y {k. kk s a d k  f oy ks iu 
(d) u oh u fo'ks "k rk v ks a d k v f/k xzg. k 

l ghl ghl ghl gh   d w V d k  p;u  d hf t, % 
d w V % d w V % d w V % d w V %  
1) (a), (b) , o a (c)  

2) (a), (b) , o a (d) 
3) (a), (c) , o a (d) 

4) (a), (b), (c) ,o a (d) 

  
8. Which type of changes occur in 

growth and development ? 

(a) Change in body size 
(b) Change in body proportion 
(c) Disappearance of old features 

(d) Acquisition of new features 

Choose the correct code : 
Code :  

1) (a), (b) & (c)  

2) (a), (b) & (d) 
3) (a), (c) & (d) 

4) (a), (b), (c) & (d) 

9. fu Eu fyf [k r es a ls d kS u &l k d F ku  vf Hk izs j. kk 
d k  v f /kxe ij ld k jkRe d  izH k ko Li "V u ghau ghau ghau gha 
d jr k \ 
1) v f H kiz s j. k k l h[ kus d s O ;o gk j d k s {kh .k 

d jr h gS 
2) v f H kiz s j. k k lh [k us d s O; o gk j d ks 

f uf 'p r fn'kk  iz nku  d jr h gS 
3) v f H kiz s j. k k lh[ ku s ds O ;o gkj es a 

l fØ ; rk  y kr h gS 
4) v f H kiz s j. k k lh [k us d s O; o gk j d ks 

p ;u kRe d  cu kr h gS 

  
9. Which of the following statements 

does not explain the positive 

impact of motivation on learning ? 

1) Motivation impairs learning 

behaviour 

2) Motivation provide definite 

direction to learning behaviour 

3) Motivation energizes learning 

behaviour 

4) Motivation makes learning 

behaviour selective 
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10. d k s g~y cxZ d s uS fr d  fod kl fl) k a r ds 
v Ur xZ r uS f rd rk dh v oLF kk v ks a d k s muds 
Lr j ls lq e s fyr d hf t, % 

uS f r dr k d h  v o LF kkuS f r dr k d h  v o LF kkuS f r dr k d h  v o LF kkuS f r dr k d h  v o LF kk uS f r dr k uS f r dr k uS f r dr k uS f r dr k 
d k Lr jd k Lr jd k Lr jd k Lr j 

(a) v PNs vUr oS Z ; fDrd  l a ca/k 
 

(b) O; fDro kn ,o a fo fu e; 
 

(c) lk ek ftd  vu q ca/ k , oa 
o S ;f Dr d  v f/k d kj 

(d) lk oZH k kS fe d  fu ;e 

I 

 

II 

 

III 

l ghl ghl ghl gh  dw V d k p; u d hf t, %     
d w V % d w V % d w V % d w V %  
 (a) (b) (c) (d) 

1)  I III II I 

2) III  II III I 

3) II III  I II 

4) II  I III III 

  
10. Match the stages of morality with 

their level, under the Moral 

Development theory of Kohlberg : 

Stages of Morality Level of 

Morality 

(a) Good interpersonal 

relations 

(b) Individualism and 

exchange 

(c) Social contracts and 

individual rights 

(d) Universal principles 

I 

 

II 

 

III 

Choose the correct code : 

Code :  

 (a) (b) (c) (d) 

1)  I III II I 

2) III  II III I 

3) II III  I II 

4) II  I III III 

11. tc v f /kxed r kZ fd l h d k; Z d k s f cu k fd lh 
bPNk  ;k  mn~ns'; d s v iu s v ki gh l h[ k 
tk rk  gS] rk s mls d grs gS a % 
1) v f ojke  lh[ ku k 
2) iw . kZ lh [k uk 
3) v a'k lh [k uk  
4) iz kl a fxd  l h[ ku k 

  
11. When the learner learns a task 

automatically, without any desire 

or purpose, then it is called : 

1) Massed learning 

2) Whole learning 

3) Part learning 

4) Incidental learning 

12. fu Eu fyf [k r es a l s d k Su&lk  d F ku  t Sfo d 
v fH k iz s jd k sa d s l a ca/k  es a l gh  u ghau ghau ghau gha  gS \ 
 
1) o s lko ZH kk S fed  gks r s gS a 
2) o s tUet kr gks r s gS a 
3) os thfor jgus ds fy, vko';d gksrs gSa 
4) o s O ;f Dr d h lef LF kf r ls la ca f /kr u gha 

gks r s gS a 

  
12. Which of the following statement is 

not true regarding biological 

motives ? 

1) They are universal 

2) They are inborn 

3) They are essential to survival 

4) They are not related with 

homeostatis in the individual  
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13. fu Eu fyf [k r e s a ls d k Su &lh ijh{k k, ¡ lrr  
v kS j O; kid  ewY; ka d u  d k  vk /kk j gS a \ 
 
 

(a) f yf[ kr  

(b) e kS f [k d 

(c) O ;ko gkf jd   

(d) iz k; ks f xd  

l ghl ghl ghl gh  dw V d k p; u d hf t, %     

d w V % d w V % d w V % d w V %  

1) (a), (b) , o a (d)  

2) (a), (b) , o a (c) 

3) (a), (c) , o a (d) 

4) (a), (b), (c) ,o a (d) 

  

13. Which of the following 

examinations are the basis of 

continuous and comprehensive 

evaluation ? 

(a) Written  

(b) Oral 

(c) Behavioural  

(d) Practical 

Choose the correct code : 

Code :  

1) (a), (b) & (d)  

2) (a), (b) & (c) 

3) (a), (c) & (d) 

4) (a), (b), (c) & (d) 

14. fu Eu fyf [k r esa ls d kSu&l k d F ku c q f) 
ijh{k. k ks a d s l a nH k Z e s a lgh  ug haug haug haug ha  gS \ 
 

1) , ys Dts a M j d k ik l , yka x ijh{k .k  , d  
f u"iknu  ijh{k. k  gSA 

2) 'k kfCnd  ijh{k . k o S ;f Dr d  vF k ok 
l kew f gd  nks u ksa iz d kj ds gk s l d rs gS aA 

3) v f 'k f{k r O ;f Dr fu "iknu ijh{k . k u gha 
d j ld r sA 

4) v 'kk fCnd  ijh{k . kks a e s a c q f)  d k ek iu 
f p=k s a , o a v k Ñ fr ;k sa } kjk gksr k gSA 

  

14. Which of the following statement is 

not correct in reference to 

intelligence tests ? 

1) Alexander's Pass along test is a 

performance test. 

2) Verbal test can be either 

individual or group. 

3) Illiterate people cannot do 

performance test. 

4) In non-verbal tests intelligence 

is measured through pictures 

and figures. 
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15. fu Eu fyf [k r es a ls d kS u &lk ;q X e fxyQ k s MZ ds 
f= v k; ke h cq f )  fl ) ka r d s v Ur xZ r c q f)  d s 
r Ù o , oa mld s v k;k e d s la ca/ k esa lgh 

u gh au gh au gh au gh a  gS \ 
 
 

c q f )  d s r Ù oc q f )  d s r Ù oc q f )  d s r Ù oc q f )  d s r Ù o v k; kev k; kev k; kev k; ke 

1) bd kbZ 

2) la K ku 

3) e w Y; ka d u 

4) la c a/k 

mR ik n 

la fØ ;k 

la fØ ;k 

fo "k; o Lrq  
 

  
15. Which of the following pair is not 

correct regarding elements of 

intelligence and their dimension, 

under the Three Dimensional 

Intelligence theory of Guilford ? 

Elements of 

Intelligence 

Dimension 

1) Unit 

2) Cognition 

3) Evaluation 

4) Relations 

Product 

Operation 

Operation 

Content 
 

16. fu Eu fyf [k r es a ls d kSu &lh c ky d s fU nz r 
v f/ kxe  n` f"V d ks . k  d h iz eq[k  fo'k s "kr k u ghau ghau ghau gha  
gS \  

1) l kF kZ d  l h[ kus d s v o lj 
 

2) , d y f'k {k. k e kxZ 

3) l rr e w Y;k a d u 

4) l q yH k f'k {k. k ls fV a Xl  

  

16. Which one of the following is not a 

key feature of child centred 

learning approach ? 

1) Meaningful learning 

opportunities 

2) Single learning pathway 

3) Continuous assessment 

4) Accessible learning settings 

17. c .M w jk d s vu q lkj] iz s{k. k kRe d  lh [k us d h 
d k S u&lh  v Ur lZ a c a f/k r iz fØ ; k, ¡ u gh au gh au gh au gh a   gS a \ 
 

1) v o/kk uk Red  iz fØ ; k, ¡ 

2) /k kj. kk Red  iz fØ ; k, ¡ 

3) iz s j. kkR ed  iz fØ ; k, ¡ 

4) l a ;ks t uk Red  iz fØ ; k, ¡ 

  
17. According to Bandura, which is not 

the interrelated processes of 

observational learning ? 

1) Attentional Processes 

2) Retentional Processes 

3) Motivational Processes 

4) Conjunctional Processes 
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18. c .M w jk d s lke kf td  vf/k xe  f l) ka r d s 
v u ql kj] tc d ks bZ O;f Dr nw ljk s a d s O;o gkj 
d k s ns [ kd j v kS j nks gjkd j o gh  O ;o gk j  l h[ k  
ys r k gS] rk s bls D;k  d gr s gS a \ 
 
1) v u q dw yu 
2) v k Re&iz s{k. k 
3) e kW M fya x 
4) l keF ; Z iz R ;k 'k k 

  
18. According to Bandura's Social 

Learning theory, what is it called 

when a person learns the same 

behaviour by observing and 

repeating the behaviour of others ? 

1) Adaptation 

2) Self-observation 

3) Modeling 

4) Efficacy expectation 

19. LV uZ c xZ d s f= ra = fl ) kar d s vUr xZ r 
?k Vd h; cq f )  es a d kSu &lk mi &? kV d  
lf Eef yr u gh au gh au gh au gh a  gS \ 
1) e s Vk  ? kV d 
2) iz ;k s xk Re d  ? kV d  
3) f u"iknu  ? kV d  
4) K ku  l a xz g. k ¼ v tZ u½  ? kV d 

  
19. Which sub-component is not included 

in componential intelligence under 

the Sternberg Triarchic Theory ? 

1) Meta component 

2) Experimental component 

3) Performance component 

4) Knowledge acquisition component 

20. , d  v f /kxe f u; ks Z X; rk  tk s v ad xf. kr h; 
d k S'ky d s v f/k xz g. k d ks izH kkf or d jrh gS % 
1) f MLd S yd q fy ;k 2) f MLxz kf Q ;k  
3) f MLys f Dl;k  4) f MLe S fXu fl; k 

  
20. A learning disability that affects the 

acquisition of arithmetical skill is : 

1) Dyscalculia 2) Dysgraphia 

3) Dyslexia 4) Dysmagnisia 

21. Ý k ;M  d s e uksy Sa fxd  fo dkl f l) ka r d h 
ik¡ pk s a v o LF kk v ksa d s l ghl ghl ghl gh Ø e  d k  p;u 
d h ft, % 
1) e q [k ko LF kk  → fya x iz/kkuk oLF k k → 

v O; Drk oLF k k → xq nko LF kk  → 
t uu sf Unz ;k oLF k k 

2) xq nko LF kk → v O; Drko LF kk  → fya x 
iz/kk uk oLF k k → tuu s fUnz; ko LF kk → 
e q [k ko LF kk 

3) e q [k ko LF kk  → xq nko LF kk → fya x 
iz/kk uk oLF k k → v O ;Drk oLF k k → 
t uus f Unz ;k oLF k k 

4) v O; Drk oLF k k → xq nko LF kk  → 
e q [k ko LF kk  → tuu s fUnz ; ko LF kk → fya x 
iz/kk uk oLF k k 

  
21. Choose the correct sequence of 

the five stages of Freud's Psycho-

sexual development theory : 

1) Oral stage → Phallic stage → 

Latency stage → Anal stage → 

Genital stage 

2) Anal stage → Latency stage → 

Phallic stage → Genital stage 

→ Oral stage 

3) Oral stage → Anal stage → 

Phallic stage → Latency stage 

→ Genital stage 

4) Latency stage → Anal stage → 

Oral stage → Genital stage → 

Phallic stage 
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22. iS oy ko d s 'k kL= h; vu q ca/k u v f/k xe 
fl ) ka r d s v uq l kj Lo kH k kfo d  ,o a vu q caf /kr 
m íh id ks a d s iz Lrq r hd j. k d k d k Su&lk  d kfyd 
Ø e  l h[ ku s d k s lok Z f/kd  izHk kfo r d js xk \ 
 
 

1) l ed k fyd   

2) f oy a fcr 

3) l a d s r  

4) i'p xke h 

  
22. According to Pavlov's Classical 

Conditioning theory of learning, 

which temporal sequence 

presentation of natural and 

conditioned stimuli will most affect  

learning ? 

1) Simultaneous   

2) Delay 

3) Trace  

4) Backward 

23. fi; kts d s l aKku kRed  fod k l fl )k a r d h 
fd l v oLF k k es a v ewr Z f pa ru  rF k k 
lk ek U;h d j. k d h  {ke rk fo d fl r gks t krh   
gS \ 

1) l a os nh&xked  

2) iw o Z&l a fØ ; kRe d 

3) e w rZ&la f Ø ;k Re d 

4) v k S ip kfjd &la f Ø ;k Re d 

  

23. In which stage of Piaget's Cognitive 

Development theory does the 

ability of abstract thinking and 

generalization develop ? 

1) Sensory motor 

2) Pre-operational 

3) Concrete-operational 

4) Formal operational 

24. iz frH kk'k kyh  fo | kf F kZ ; ksa ds f y, fu Euf yf[ kr 
e s a ls d k Su&lh  'k S f{kd  O; o L F kk ugh augh augh augh a d h  t kuh 
pk fg, \ 

1) Lo ra =  iz k s ts DV d k; Z d s v olj 
 

2) R oj. k 

3) m ip kjkR ed  f'k {k. k 

4) l a o/k Z u d k; ZØ e 

  

24. Which of the following educational 

arrangements shouldn't be made 

for talented students ? 

1) Opportunities for independent 

project work 

2) Acceleration  

3) Remedial teaching 

4) Enrichment program 
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25. fu Eu fyf [k r e s a ls d kSu&lk  le ko s'kh f'k{k k  
d k  , d  fl )ka r u gh au gh au gh au gh a   gS \ 

1) i`F kDd j. k d k f l) ka r 

2) l g; ks x d k fl) k a r 

3) f of o/k rk  d k t'u eu ku s d k fl) k a r 

4) f 'k{kk  d s v f /kd k j d k  f l) kar 

  

25. Which one of the following is not a 

principle of inclusive education ? 

1) Principle of segregation 

2) Principle of cooperation 

3) Principle of celebrating diversity 

4) Principle of right to education 

26. fu Eu fyf [k r es a ls d k S u&lk  r jhd k o S ;fDr d 
fH k Uur kv k sa d s v uq lk j f'k{k .k  d k l eF kZ u 

u gh au gh au gh au gh a d jr k \ 

1) f o| kfF k Z ;ks a d k cM + k lew g 

2) o S ;f Dr d  v uq ns'ku 

3) ikB ~;Ø e v uq dw y u 

4) f o| kfF k Z ;ks a d h {ke rkv k s a d k Kk u 

  

26. Which of the following way does 

not support the teaching according 

to individual differences ? 

1) Large group of students 

2) Individualized instruction 

3) Curriculum adaptation 

4) Knowledge of student's abilities 

27. fo f'k "V v k o' ; d r kv ks a o kys c Ppks a d h 
v ko';d rk  d ks iw jk  d jus es a 'k S{kf. kd 
la LF k ku ks a d h D;k  H k w fed k u ghau ghau ghau gha   gS \  

1) f cu k H ks nH kko ds fo | ky ; es a iz os'k  ns uk  
 

2) l q yH k cq f u; knh lq f o/k k, ¡ iz nku  d ju k 
 

3) mudh fof'k"V vko';drk dks igpkuuk 
,oa eq [;/kkjk ls ckgj   j[kuk 
 

4) m Ugs a v k o'; d  lgk;r k ls o k, ¡ iz nku  
d ju k 

  

27. Which is not a role of educational 

institutions in addressing the needs 

of children with special need ? 

1) Admission to school without 

discrimination 

2) Provide accessible 

infrastructural facilities 

3) Identify their special needs 

and exclude them from 

mainstreaming 

4) Provide necessary support 

services 
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28. fu Eu fyf [k r es a ls d kSu &l k d F ku  f od k l ds 
lU nH k Z e s a l gh  u ghau ghau ghau gha   gS \ 
 

1) f od k l if jiDor k ,o a v f/k xe  d k 
m Rikn gSA  

2) iz kja fH k d  f od k l d h r q yuk es a c kn d k 
f od k l v f/k d  xaH kh j gks r k gSA 

3) f od k l f lj ls iS j d h f n'k k e s a v kxs 
c <+ r k gSA 

4) f od k l d s U nz h ; v {k  ls N ksj d h  v ks j 
c <+ r k gSA 

  

28. Which of the following statement is 

not correct in context of 

development ? 

1) Development is the product of 

maturation and learning. 

2) Later development is more 

critical than early development. 

3) Development proceeds from 

head to foot. 

4) Development proceeds from 

central axis to extremities. 

29. le ko s'kh f'k {kk d k  f =v k; ke h fl) k a r fd l ds 
}k jk iz f rikf nr fd ; k x; k \ 
 

1) f xz f Q F k] d w ij , o a f jaxyk cs u 

2) xkV Z j , o a f yILd h  

3) d k W Qe Su  ,o a gy kgu 

4) y s oa s Ld h] Ms f ol , oa gw ij 

  

29. The three dimensional model of 

the inclusive education 

propounded by whom ? 

1) Griffith, Cooper and Ringlaben 

2) Gartuer and Lipsky 

3) Kauffman and Hallahan 

4) Levenski, Davis and Hooper 

30. ^^ l ke kth d j.k  d k  vF kZ gS lke kf td  l a ca/kks a 
e s a ifjiDo rk  v ku kA**  lk ek thd j. k dh ;g 
ifjH kk "kk  f d ld s }k jk nh  xbZ gS \ 
 

1) t kW u M ho h  

2) xS js V 

3) l ks js Ulu  

4) gjykW d  

  

30. "Socialization means attaining of 

maturity in social relationships." 

This definition of socialization is 

given by whom ? 

1) John Dewey  

2) Garret 

3) Sorenson  

4) Hurlock 
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HkkxHkkxHkkxHkkx – II / PART – II 

Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½ / LANGUAGES (HINDI & ENGLISH) 

fgUnhfgUnhfgUnhfgUnh (HINDI) 

funsZ'k %funsZ'k %funsZ'k %funsZ'k % fuEufyf[kr iz'uksa ds mÙkj nsus ds fy, lcls mfprlcls mfprlcls mfprlcls mfpr fodYi pqfu,A 

31. fo'ks"k.k ds laca/k esa dkSu&lk lgh lqesfyr 
ughaughaughaugha  gS \ 

1) Hkkjrh; & laKk ls fufeZr fo'ks"k.k 

2) ifo=re & fo'ks"k.k dh mÙkjkoLFkk 

3) ifjJeh & xq.kokpd fo'ks"k.k 

4) vkyL; & fo'ks"k.k ls fufeZr Hkkookpd  
laKk 

32. fdl fodYi esa 'kCn&;qXe dk lgh vFkZ Hksn 
ughaughaughaugha  gS \ 
1) ckt+h & nko] okth & ?kksM+k 
2) es/k & gou] es?k & ckny 
3) ekf.kD; & pchZ] ekf.kD;k & eNyh 
4) eqDrk & eksrh] eqfDr & eks{k 

33. dkSu&lk ;qXe laxr ughaughaughaugha  gS \ 
1) fHk{kqd & rRle 'kCn 
2) eLrd & rn~Hko 'kCn 
3) f[kpM+h & ns'kt 'kCn 
4) vekur & fons'kt 'kCn 

34. fuEufyf[kr esa ls fdl fodYi dk 'kCn 
laf/k&foPNsn dh n`f"V ls laxrlaxrlaxrlaxr  gS \ 
1) dq'kklu = dq'k $ vlu 
2) okrkZyki = okrkZ $ vyki 
3) tkudh'k = tud $ bZ'k  
4) y?kwfeZ = y?kq $ ÅfeZ 

35. fdl fodYi ds leLr in esa cgqozhfg 
lekl dk mnkgj.k ughaughaughaugha  gS \ 
1) 'ks"k'kk;h] {kikukFk 
2) nh?kZ'okl] ik"kk.kân; 
3) vk'kqrks"k] eanksnjh 
4) iap'kj] i'kqifr 

36. fdl fodYi dk 'kCn ^vu~* milxZ ls 
fufeZr ughaughaughaugha  gS \ 
1) vuarj 
2) vuhfr 
3) vfu"V 
4) vukpkj 

37. fuEu esa ls fdl fodYi ds 'kCn fons'kt 
izR;;ksa ls fufeZr gSa \ 
1) iYyfor] uhfyek 
2) vfM+;y] dlkoV 
3) fj'or[kksj] jkst+xkj 
4) >xM+kyw] gBhyk 

38. i;kZ;okph 'kCnksa ds laca/k esa dkSu&lk 
fodYi vuqfprvuqfprvuqfprvuqfpr  gS \ 
1) pUnzek & fgedj] ve`rka'kq] egrkc 
2) x#M+ & [kxukFk] o`"kHkh] Hknzk 
3) pUnu & xksjkspu] ey;t] likZokl 
4) xaxk & vejrfVuh] vfnztk] lqjlfj 
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39. okrZfud n`f"V ls fdl fodYi ds lHkh 'kCn 
'kq)'kq)'kq)'kq) gSa \ 
1) vH;kFkhZ] R;kSgkj 
2) ;kKoYD;] gLr{ksi 
3) eSFkyh] vfgY;k 
4) oSnsfg] okfil 

40. ^egkRek xka/kh us Hkkjr dks vkt+kn djk;kA* 
mDr okD; esa js[kkafdr 'kCn Øe'k% gSa % 
1) O;fDrokpd laKk rFkk tkfrokpd laKk 
2) tkfrokpd laKk rFkk Hkkookpd laKk 
3) O;fDrokpd laKk rFkk O;fDrokpd laKk 
4) Hkkookpd laKk rFkk O;fDrokpd laKk 

41. fuEu esa ls fdl eqgkojs dk vFkZ laxr ughaughaughaugha 
gS \ 
1) vius iSjksa ij [kM+k gksuk & vkRefuHkZj 

gksukA 
2) va/ks ds gkFk cVsj yxuk & fcuk iz;kl 

ds dksbZ pht+ izkIr dj ysukA 
3) ,d ?kkV ikuh ihuk & ,drk vkSj 

lfg".kqrk gksukA 
4) deku ls rhj fudy tkuk & fdlh dk 

Hksn [kqyukA 

42. fØ;k ds laca/k esa vuqfprvuqfprvuqfprvuqfpr fodYi pqfu, % 
1) deZ ds vk/kkj ij fØ;k ds ^ldeZd* 

,oa ^vdeZd* nks Hksn ekus tkrs gSaA 
2) lHkh izsj.kkFkZd fØ;k,¡ vdeZd gksrh 

gSaA 
3) ^firk iq= ls i= fy[kokrk gSA* mDr 

okD; esa izsj.kkFkZd fØ;k iz;qDr gqbZ gSA 
4) ^cfr;kuk*] ^yfB;kuk* ,oa ^viukuk* 

uke/kkrq fØ;k ds mnkgj.k gSaA 

43. loZuke ds laca/k esa dkSu&lk dFku vlR;vlR;vlR;vlR; 
gS \ 

1) iz;ksx ds vk/kkj ij loZuke ds Ng 
Hksn gSaA 

2) ^dksbZ* rFkk ^dqN* vfu'p;okpd 
loZuke 'kCn gSaA 

3) ^iq#"kokpd* loZuke ds pkj Hksn ekus 
tkrs gSaA 

4) ftl loZuke ls oDrk ds ikl vFkok 
nwj dh fdlh oLrq dk cks/k gksrk gS] 
mls fu'p;okpd loZuke dgrs gSaA 

44. fdl fodYi esa foijhrkFkZd ;qXe vlaxrvlaxrvlaxrvlaxr  
gS \ 

1) uwru & iqjkru 

2) nqjk'k; & lnk'k; 

3) nuqt & nkuo 

4) taxe & LFkkoj 

45. okD;ka'k ds fy, ,dy 'kCn ds laca/k esa 
vuqfprvuqfprvuqfprvuqfpr ;qXe gS % 

1) tks dkuwu dh n`f"V ls mfpr u gks & 
voS/k 

2) ftlesa dksbZ fNnz u gks & uhjU/kz 

3) leqnz esa yxus okyh vkx & nkokuy 

4) tks Hkkstu jksxh ds fy, mfpr gS & 
iF; 
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vaxzsthvaxzsthvaxzsthvaxzsth / ENGLISH 

Direction : Answer the following questions by selecting the most appropriate option.

46. Fill in the blank with the correct 

option : 

Note it down ……….. you should 

forget it. 

1) that 2) because of 

3) till 4) lest 

47. Choose the correct option that 

gives the meaning of the given 

idiom : 

 Spill the beans  

1) increase work 

2) face a great loss 

3) to leak a secret 

4) segregate 

48. Fill in the blank with the correct 

option : 

The Pak army turned hostile ……… 

ISIS. 

1) to 2) for 

3) at 4) with 

49. Choose the correct passive of the 

given sentence : 

    Please give me some more time. 

1) Some more time might please 

be given to me. 

2) Some more time may please 

be given to me. 

3) Some more time could please 

be given to him. 

4) Some more time should please 

be given to him. 

50. Which of the following options 

express the correct meaning of the 

sentence given below ? 

No sooner did I reach the college 

than the bell rang. 

1) The sooner I reached the 

college the earlier the bell 

rings. 

2) I reached the college and the 

bell was rang after. 

3) Although I reached the college 

the bell began to ring. 

4) As soon as I reached the 

college, the bell rang. 

51. Change the narration : 

He said, "What a charming sight !" 

1) He exclaimed with joy that it 

was a very charming sight. 

2) He exclaimed with joy that 

what a charming sight it is ! 

3) He told with joy that that is a 

charming sight. 

4) He said to me what a charming 

sight it is ! 

52. Fill in the blank with the correct 

form of the verb : 

I …………… a lot of calls today. 

1) had have 

2) has had 

3) have had 

4) had had 
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53. Which of the following sentences is 

the correct option to express a 

probable condition ? 

1) If I were a bird, I would fly to 

you. 

2) If you touch a live wire, you 

will get a shock. 

3) If you will read this book, you 

will learn grammar. 

4) If I had reached in time, I could 

have saved her. 

54. Choose the part of the sentence 

that is grammatically incorrect : 

He thought / he will be able to do / 

  A  B 

whatever he wanted / with his job. 

 C            D 

1) A 2) B 

3) C 4) D 

55. Choose the part of the sentence 

that is grammatically incorrect : 

The Jews were / most reluctant / 

  A  B 

to contribute / in the Palestinian 

                                       cause. 

 C       D 

1) A 2) B 

3) C 4) D 

56. The word 'slither' means : 

1) lick 2) venomous 

3) hinder 4) slide 

57. Fill in the blank with the correct 

form of verb : 

When I last …………. her, she was 

deeply involved in debt. 

1) have met 2) met 

3) has met 4) did met 

58. Fill in the blank with the correct 

option : 

How did the thief …… the padlock. 

1) open 

2) opened 

3) had opened 

4) had been opening 

59. Fill in the blank with the correct 

'Modal Auxiliary' : 

…………. you mind lending me 

your pen ? (Request) 

1) Should 2) Ought 

3) Would 4) Must 

60. Arrange the following jumbled 

options in the correct order and 

then choose the correct option : 

(A) is heartening  

(B) is going abroad 

(C) the news 

(D) that she 

1) C, D, B, A 

2) D, A, C, B 

3) D, C, B, A 

4) D, C, A, B 
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HkkxHkkxHkkxHkkx – III / PART – III 

lkekU; v/;;ulkekU; v/;;ulkekU; v/;;ulkekU; v/;;u / GENERAL STUDIES 

ek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKku / QUANTITATIVE APTITUDE, 

REASONING ABILITY AND G.K. & AWARENESS 

funsZ'k funsZ'k funsZ'k funsZ'k %%%% fuEufyf[kr iz'uksa ds mÙkj nsus ds fy, lcls mfprlcls mfprlcls mfprlcls mfpr    fodYi pqfu,A 
Direction :  Answer the following questions by selecting the most appropriate option. 

61. ;fn A vius flj ds cy ij mÙkj fn'kk 
dh vksj viuk eq¡g djds [kM+k gS] rks 
mlds ck;sa gkFk dh fn'kk gS % 

1) mÙkj&iwoZ  

2) if'pe  

3) iwoZ  

4) mÙkj&if'pe  

  

61. If A stands on his head with his 

face towards North, in which 

direction will his left hand point ? 

1) North-East  

2) West 

3) East  

4) North-West 

62. ,d uko 20 fdeh nwjh dks /kkjk dh fn'kk 
esa ,d ?k.Vs esa rFkk mlh nwjh dks /kkjk dh 
foijhr fn'kk esa 2 ?k.Vs esa r; djrh gS] 
rks 'kkUr ty esa uko dh pky gS % 

1) 10 fdeh@?k.Vk  

2) 12 fdeh@?k.Vk 

3) 13 fdeh@?k.Vk  

4) 15 fdeh@?k.Vk 

  

62. A boat goes 20 km downstream in 

one hour and the same distance 

upstream in two hours. The speed 

of the boat in still water is : 

1) 10 km/h  

2) 12 km/h 

3) 13 km/h  

4) 15 km/h 

63. 15 O;fDr;ksa ds lewg esa 7 O;fDr fgUnh 
,oa 8 O;fDr vaxzsth i<+rs gSa tcfd 3 
O;fDr bu nksuksa esa ls fdlh dks Hkh ugha 
i<+rs gSa] rks buesa ls fdrus O;fDr fgUnh o 
vaxzsth nksuksa dks i<+rs gSa \ 

1) 0 2) 3 

3) 4 4) 5 

  

63. In a group of 15 people, 7 read 

Hindi, 8 read English, while 3 of 

them read none of these two. How 

many of them read Hindi and 

English both ? 

1) 0 2) 3 

3) 4 4) 5 
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64. ,d d{kk esa 35 fo|kfFkZ;ksa esa] A dk LFkku 
uhps ls 7osa ij ,oa B dk LFkku Åij ls 
9osa LFkku ij gS rFkk C dk LFkku bu nksuksa 
ds Bhd e/; esa gks] rks C dk LFkku A ls 
dkSu&lk gS \ 
 
1) 9ok¡  

2) 10ok¡ 
3) 11ok¡  

4) 12ok¡ 

  

64. In a class of 35 students, A is 

placed 7th from the bottom 

whereas B is placed 9th from the 

top and C is placed exactly 

between these two. What is A's 

position from C ? 

1) 9th  

2) 10th 

3) 11th  

4) 12th 

65. ,d fuf'pr dwV Hkk"kk esa 'CEG' dks 'TSR' 
rFkk 'FHJ' dks 'QPO' fy[kk tkrk gS] rks 
blh leku Hkk"kk esa 'IKM' dks fy[kk 
tk;sxk % 
1) NOP  

2) NOL 

3) NMK  

4) NML 

  

65. In a certain code language 'CEG' is 

written as 'TSR' and 'FHJ' is written 

as 'QPO', then in the same code 

language 'IKM' is written as : 

1) NOP  

2) NOL 

3) NMK  

4) NML 

66. v{kjksa EAML ls fdrus lkFkZd 'kCn cuk;s 
tk ldrs gSa \ 
1) 1  

2) 2 

3) 3  

4) 4 

  

66. How many meaningful words can 

be formed with the letter EAML ? 

1) 1  

2) 2 

3) 3  

4) 4 

67. ,d fu;fer cgqHkqt esa vkUrfjd dks.k ,oa 
cká dks.k dk vuqikr 7 : 2 gks] rks bl 
cgqHkqt dh Hkqtkvksa dh la[;k gS % 
 
1) 7 2) 8 

3) 9 4) 11 

  

67. The ratio of an interior angle to the 

exterior angle of a regular polygon 

is 7 : 2. The number of sides of the 

polygon is : 

1) 7 2) 8 

3) 9 4) 11 
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68. fuEufyf[kr la[;k Üka`[kyk dk vxyk in 
Kkr dhft, % 
 2, 3, 10, 15, 26, ? 

1) 33  

2) 34 

3) 35  

4) 36 

  

68. Find the next term of the following 

number series : 

 2, 3, 10, 15, 26, ? 

1) 33  

2) 34 

3) 35  

4) 36 

69. uy A }kjk ,d VSad dks vdsys 8 ?k.Vs esa] 
uy B }kjk blh VSad dks vdsys 6 ?k.Vs esa 
Hkjk tk ldrk gSA ;fn nksuksa uyksa dks ,d 
lkFk 2 ?k.Vs ds fy, [kksyus ds i'pkr~ uy 
A dks cUn dj fn;k tk,] rks uy B }kjk 
cpk VSad dc Hkj tk,xk \ 
1) 2 ?k.Vs esa  

2) 2½ ?k.Vs esa 
3) 3 ?k.Vs esa  

4) 3½ ?k.Vs esa 

  
69. Pipe A alone can fill a tank in 8 

hours. Pipe B alone can fill it in 6 

hours. If both the pipes are opened 

and after 2 hours pipe A is closed, 

then pipe B will fill the tank in : 

 

1) 2 hours  

2) 2½ hours 

3) 3 hours  

4) 3½ hours 

70. ;fn fdlh fuf'pr iSVuZ esa 38 * 15 = 32, 
62 * 91 = 7 rFkk 74 * 81 = 29 gks] rks 
mlh iSVuZ esa 47 * 33 dk eku gS % 
 
1) 40 2) 41 

3) 38 4) 53 

  

70. In a certain pattern, if 38 * 15 = 32, 

62 * 91 = 7 and 74 * 81 = 29, then 

in the same pattern the value of      

47 * 33 is : 

1) 40 2) 41 

3) 38 4) 53 

71. ;fn 17 fnlEcj] 2002 dks 'kfuokj Fkk] 
rks 22 fnlEcj] 2004 dks dkSu&lk fnu 
Fkk \ 
1) jfookj  

2) 'kfuokj 
3) lkseokj  

4) eaxyokj 

  

71. If it was Saturday on 17th 

December, 2002, what was the day 

on 22nd December, 2004 ? 

1) Sunday  

2) Saturday 

3) Monday  

4) Tuesday 
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72. Js.kh dk vxyk in gS % 
 Z1A, X2D, V6G, T21J, ? 

1) R87M  

2) R87N 

3) R88P  

4) R88M 

  

72. The next of the series is : 

 Z1A, X2D, V6G, T21J, ? 

1) R87M  

2) R87N 

3) R88P  

4) R88M 

73. vaxzsth o.kZekyk esa] nh xbZ Jsf.k;ksa esa 
Øekxr v{kjksa ds e/; NksM+s x, v{kjksa dh 
la[;k ,d ls de gksrh tkrh gS] 
fuEufyf[kr Jsf.k;ksa esa dkSu&lh bl fu;e 
dk ikyu djrh gS \ 
1) DJOTV  

2) DJOSV 

3) DJOSW  

4) DIOSU 

  

73. In English alphabet, the number of 

letters skipped in between 

adjacent letters in the series is 

decreased by one. Which of the 

following series observes the rule ? 

1) DJOTV  

2) DJOSV 

3) DJOSW  

4) DIOSU 

74. x-v{k] y-v{k rFkk 1234 =+ yx  }kjk 
fufeZr f=Hkqt ds ckáo`Ùk dh f=T;k gS % 
 
1) 2 bdkbZ  

2) 2.5 bdkbZ 
3) 3 bdkbZ  

4) 4 bdkbZ 

  
74. The radius of the circumcircle of 

the triangle made by x-axis, y-axis 

and 1234 =+ yx  is : 

1) 2 unit  

2) 2.5 unit 

3) 3 unit  

4) 4 unit 

75. og lcls NksVh la[;k Kkr dhft,] ftls 
15463 esa tksM+us ij izkIr ;ksxQy 107 ls 
iw.kZr;k foHkkftr gks tkrk gS % 
 
1) 52  

2) 55 

3) 71  

4) 76 

  
75. Find the least number which must 

be added to 15463 so that the 

resulting number is exactly 

divisible by 107 : 

1) 52  

2) 55 

3) 71  

4) 76 
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76. ikuh dks nw/k esa fdl vuqikr esa feykdj 
cspk tk, fd izkIr feJ.k dks Ø; ewY; ij 
cspus ij 20% dk ykHk gks \ 
1) 1 : 5 2) 2 : 5 

3) 3 : 5 4) 4 : 5 

  
76. What proportion of water must be 

added to milk to gain 20% by 

selling it at the cost price ? 

1) 1 : 5 2) 2 : 5 

3) 3 : 5 4) 4 : 5 

77. ,d fuf'pr jkf'k dk 4% okf"kZd nj ij 
2 o"kksZa ds fy, pØo`f) C;kt ,oa ljy 
C;kt dk vuqikr gS % 
 
1) 52 : 51  

2) 52 : 50 

3) 51 : 50  

4) 53 : 50 

  
77. The ratio of compound interest and 

simple interest on a certain sum at 

the rate of 4% per annum for 2 

years is : 

1) 52 : 51  

2) 52 : 50 

3) 51 : 50  

4) 53 : 50 

78. ;fn A, B rFkk C us 
5

6
:

3

4
:

2

7  ds 

vuqikr esa iw¡th yxkdj ,d O;kikj izkjEHk 
fd;kA 4 ekg i'pkr~ A us viuh iw¡th dk 
50% c<+k fn;kA ;fn o"kZ ds vUr esa dqy 
21,600 #i;s dk ykHk gqvk gks] rks bl 
ykHk esa ls B dk fgLlk gS % 
1) 2,400 #i;s  

2) 3,600 #i;s 
3) 4,000 #i;s  

4) 4,200 #i;s 

  

78. If A, B and C enter into a 

partnership with shares in the ratio 

5

6
:

3

4
:

2

7
. After 4 months, A 

increase his share by 50%. If the 

total profit at the end of one year 

be Rs. 21,600, then B's share in the 

profit is : 

1) Rs. 2,400  

2) Rs. 3,600 
3) Rs. 4,000  

4) Rs. 4,200 

79. ,d vkneh 20% gkfu ij ,d oLrq dks 
csprk gS] ;fn mlh oLrq dks 12 #i;s 
vf/kd esa csprk] rks mls 10% dk ykHk 
gksrkA ml oLrq dk Ø; ewY; gS % 
1) 22 #i;s  

2) 30 #i;s 
3) 36 #i;s  

4) 40 #i;s 

  
79. A man sold an article at a loss of 

20%. If he sells the article for Rs. 12 

more, he would have gained 10%. 

The cost price of an article is : 

1) Rs. 22  

2) Rs. 30 

3) Rs. 36  

4) Rs. 40 
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80. 

a

a

a

aa

+

−
+

−

+
−−

1

1

1

½½½

 cjkcj gS % 

1) 
1−a

a
  

2) 
2

1−a
 

3) 
1

2

−a
  

4) 
a−1

2  

  

80. 

a

a

a

aa

+

−
+

−

+
−−

1

1

1

½½½

 is equal to : 

1) 
1−a

a
  

2) 
2

1−a
 

3) 
1

2

−a
  

4) 
a−1

2  

81. ,sfrgkfld xk¡o lqx vofLFkr gS % 
 

1) vEckyk ftys esa 

2) dq#{ks= ftys esa 

3) ;equkuxj ftys esa 

4) iapdqyk ftys esa 

  

81. Historical village Sugh is located 

in : 

1) Ambala district  

2) Kurukshetra district 

3) Yamunanagar district 

4) Panchkula district 

82. fdl gfj;k.koh us vxLr] 2023 esa ekmaV 
,Yczql dks Qrsg fd;k \ 

1) lanhi fc'uksbZ  

2) jksgrk'k fc'uksbZ 

3) vt; f[kpM+  

4) eksfgr 

  

82. Which Haryanvi conquered Mount 

Elbrus in August, 2023 ? 

1) Sandeep Bishnoi 

2) Rohtash Bishnoi 

3) Ajay Khichad 

4) Mohit 

83. gfj;k.kk ds fuEufyf[kr jkT;ikyksa esa ls 
dkSu vkbZ lh ,l vf/kdkjh Fks \ 
1) Jh /keZohj 
2) Jh eqt+¶Qj gqlSu cuhZ 
3) Jh gfj vkuUn cjkjh 
4) Jh lqjthr flag la/kokfy;k 

  

83. Who among the following Governors 

of Haryana was an ICS officer ? 

1) Shri Dharma Vir  

2) Shri Muzaffar Hussain Burney 

3) Shri Hari Anand Barari 

4) Shri Surjit Singh Sandhawalia 
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84. ekS;Zdkyhu Lrwi ds lk{; izkIr gq, gSa % 
 
1) Vksijk esa 2) fHkokuh esa 
3) Fkkuslj esa 4) jksgrd esa 

  

84. The evidence of Stupa of Mauryan 

period is found at : 

1) Topara 2) Bhiwani 

3) Thanesar 4) Rohtak 

85. xhrk t;arh lekjksg fdl ekg esa euk;k 
tkrk gS \ 
1) dkfrZd esa 2) ekxZ'kh"kZ esa 
3) vkf'ou esa 4) Jko.k esa 

  

85. Geeta Jayanti Samaroh is 

celebrated in the month of : 

1) Kartik 2) Margshirsh 

3) Ashvin 4) Shravana 

86. gfj;k.kk lssok dk vf/kdkj vk;ksx ds eq[; 
vk;qDr dkSu gaS \ 
 
1) Jh Vh0 lh0 xqIrk 
2) Jh fot; o/kZu 
3) Jh jkts'k [kqYyj 
4) Jh fodkl xqIrk 

  

86. Who is the Chief Commissioner of 

Haryana Right to Service 

Commission ? 

1) Shri T. C. Gupta 

2) Shri Vijay Vardhan 

3) Shri Rajesh Khullar 

4) Shri Vikas Gupta 

87. lk/kq fu'pynkl ds ckjs esa fuEufyf[kr 
dFkuksa dks if<+, % 

(i) og nknw ds f'k"; FksA 

(ii) mUgksaus ,d iqLrd ^fopkj lkxj* 
ladfyr dh] tks laokn ds :i esa gSA 
 

lghlghlghlgh dwV dk p;u dhft, % 

1) dsoy dFku (i) lgh gSA 

2) dsoy dFku (ii) lgh gSA 

3) u rks dFku (i) vkSj u gh dFku (ii) 
lgh gSaA 

4) nksuksa dFku (i) vkSj (ii) lgh gSaA 

  

87. Read the following statements 

about Sadhu Nischal Das : 

(i) He was a Dadu's disciple. 

(ii) He compiled a book 'Vichar 

Sagar' which is in form of 

dialogue. 

Choose the correct code : 

1) Only statement (i) is correct. 

2) Only statement (ii) is correct. 

3) Neither statement (i) nor 

statement (ii) are correct. 

4) Both the statements (i) and (ii) 

are correct. 
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88. gfj;k.kk esa fpadkjk iztuu dsanz dgk¡ fLFkr 
gS \ 

1) fiatkSj  

2) ikuhir 

3) >Ttj  

4) fHkokuh 

  

88. In Haryana, where the Chinkara 

Breeding Centre is located ? 

1) Pinjore  

2) Panipat 

3) Jhajjar  

4) Bhiwani 

89. gfj;k.kk jkT; lgdkjh Ñf"k ,oa xzkeh.k 
fodkl cksMZ fy0 dh LFkkiuk dc gqbZ \ 
 
 

1) tuojh] 1967  

2) uoEcj] 1966 

3) ekpZ] 1980  

4) tuojh] 1996 

  

89. When the Haryana State Co-

operative Agriculture and Rural 

Development Board Ltd. was 

established ? 

1) January, 1967  

2) November, 1966 

3) March, 1980  

4) January, 1996 

90. gfj;k.kk esa Hkkjrh; lwpuk izkS|ksfxdh 
laLFkku dgk¡ fLFkr gS \ 
 

1) lksuhir  

2) ikuhir 

3) vEckyk  

4) dq#{ks= 

  

90. Where in Haryana, the Indian 

Institute of Information Technology 

is located ? 

1) Sonipat  

2) Panipat 

3) Ambala  

4) Kurukshetra 
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HkkxHkkxHkkxHkkx – IV / PART – IV 

lekt'kkL=lekt'kkL=lekt'kkL=lekt'kkL= / SOCIOLOGY 

funsZ'k %funsZ'k %funsZ'k %funsZ'k % fuEufyf[kr iz'uksa ds mÙkj nsus ds fy, lcls mfprlcls mfprlcls mfprlcls mfpr fodYi pqfu,A 

Direction :  Answer the following questions by selecting the most appropriate option. 

91. Tosdjs'kufyVsV lacaf/kr gS % 

1) rkfdZd fØ;k ls 

2) ikjaifjd fØ;k ls 

3) HkkokRed fØ;k ls 

4) ewY;-vfHkeq[kh rkfdZd fØ;k ls 

  

91. Zweckrationalitat is related with : 

1) Rational Action 

2) Traditional Action 

3) Affectional Action 

4) Value Oriented Rational Action 

92. Hkkjr dh tux.kuk 2011 ds vuqlkj xzkeh.k 

tula[;k dk izfr'kr fdruk gS \ 

 

1) 68.84 

2) 67.84 

3) 69.72 

4) 72.20 

  

92. What is the percentage of Rural 

Population according to India's 

Census 2011 ? 

1) 68.84 

2) 67.84 

3) 69.72 

4) 72.20 

93. okbtj }kjk ttekuh O;oLFkk dk v/;;u 

fdl xk¡o esa fd;k x;k Fkk \ 

1) jkeiqj 

2) djheiqj 

3) ratkSj 

4) Jhiqje~ 

  

93. In which village was the Jajmani 

system studied by Wiser ? 

1) Rampur  

2) Kareempur  

3) Tanjore  

4) Sripuram 



[ 26 / A ] 

[ Level-3 / 1312 ]   

94. dkyZ ekDlZ us viuh iqLrd ßÝkal esa oxZ 

la?k"kZÞ esa fuEu esa ls fdls oxZ dk ,d 

izdkj ughaughaughaugha ekuk gS \ 

1) foÙkh; cqtqZvk  

2) Ñ"kd oxZ 

3) nkl Ñ"kd  

4) vkS|ksfxd cqtqZvk 

  

94. Karl Marx in his book "Class struggle 

in France" has not considered which 

of the following as type of class ?  

1) Financial Bourgeoisie  

2) Peasant Class 

3) Slave Peasantry  

4) Industrial Bourgeoisie 

95. izFke fo'o tyok;q lEesyu fdl o"kZ esa 

vk;ksftr fd;k x;k Fkk \ 

1) 1975 

2) 1989 

3) 1979 

4) 1983 

  

95. In which year was the first World 

Climate Conference held ? 

1) 1975 

2) 1989 

3) 1979 

4) 1983 

96. fuEufyf[kr esa ls dkSu-lk xq.kkRed vuqla/kku 

i)fr dk pj ughaughaughaugha gS \ 

 

1) fyax Hksn 

2) vk;q Hksn 

3) /keZ Hksn 

4) iztkfr Hksn 

  

96. Which of the following is not a 

variable of qualitative research 

methodology ? 

1) Gender difference  

2) Age difference 

3) Religious discrimination  

4) Race difference 
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97. Mh0 ih0 eq[kthZ dh Ñfr;k¡ dkSu-lh gSa \ 

 

(a) izkWCye vkWQ bf.M;u ;wFk 

(b) ekWMuZ bf.M;u dYpj 

(c) LVsV lkslkbVh bu bf.M;k 

(d) csfld dkWUlsIV~l bu lksf'k;ksykWth  

uhps fn, x, dwV esa ls lghlghlghlgh mÙkj dk p;u 

dhft, % 

1) (a), (b), (c) 

2) (b), (c), (d) 

3) (c), (d), (b) 

4) (a), (b), (d) 

  

97. What are the works of D. P. 

Mukerji ? 

(a) Problems of Indian Youth 

(b) Modern Indian Culture 

(c) State Society in India 

(d) Basic Concepts in Sociology 

Select the correct answer from the 

codes given below : 

1) (a), (b), (c) 

2) (b), (c), (d) 

3) (c), (d), (b) 

4) (a), (b), (d) 

98. iznÙk izfLFkfr dk fuEukafdr esa ls dkSu-lk 

mnkgj.k ughaughaughaugha gS \ 

1) ,d {k=h; ds :i esa izfLFkfr  

2) ,d iq= ds :i esa izfLFkfr  

3) ,d MkWDVj ds :i esa izfLFkfr  

4) ,d MkWDVj ds iq= ds :i esa izfLFkfr 

  

98. Which one of the following is not 

an example of ascribed status ?  

1) Status as Kshetriya  

2) Status as Son 

3) Status as Doctor 

4) Status as Doctor's Son  

99. fuEufyf[kr esa ls dkSu-lk ,d lkekftd 

fu;a=.k dk vukSipkfjd lk/ku ughaughaughaugha gS \ 

1) f'k{kk  

2) /keZ 

3) dyk ,oa lkfgR; 

4) fopkj/kkjk,¡ 

  

99. Which of the following is not an 

informal means of social control ? 

1) Education 

2) Religion  

3) Art and Literature  

4) Ideologies  
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100. ßdEiSfjtu vkWQ esu ,.M oqesuÞ ¼L=h-

iq#"k rqyuk½ iqLrd ds ys[kd gSa % 

1) rkjkckbZ f'kUns 

2) lkfo=hckbZ Qqys 

3) uhjk nslkbZ 

4) bUnw vfXugks=h 

  

100. The author of the book "Comparison 

of Men and Women" is : 

1) Tarabai Shinde  

2) Savitribai Phule 

3) Neera Desai 

4) Indu Agnihotri  

101. lwphlwphlwphlwph - I dks lwphlwphlwphlwph - II ds lkFk lqesfyr 

dhft, rFkk uhps fn, x, dwV ds vuqlkj 

lghlghlghlgh mÙkj dk p;u dhft, %  

    lwphlwphlwphlwph - I 

 ¼¼¼¼vkUnksyuvkUnksyuvkUnksyuvkUnksyu½½½½    

    lwphlwphlwphlwph - II 

 ¼¼¼¼o"kZo"kZo"kZo"kZ½½½½    

(a) uhy fonzksg (i) 1917 

(b) eksiyk fonzksg (ii) 1831 

(c) pEikj.k 

lR;kxzg 

(iii) 1859 

(d) ogkch fonzksg (iv) 1921 

dwVdwVdwVdwV %    

 (a) (b) (c) (d) 

1) (i) (iii) (iv) (ii) 

2) (iv) (ii) (i) (iii) 

3) (iii) (iv) (i) (ii) 

4) (ii) (i) (iii) (iv) 
 

  

101. Match List – I with List – II and 

select the correct answer using the 

codes given below the lists : 

    List – I 

 (Movement) 

    List – II 

    (Year) 

(a) Indigo Revolt (i) 1917 

(b) Moplah 

Rebellion  

(ii) 1831 

(c) Champaran 

Satyagraha 

(iii) 1859 

(d) Wahabi 

Rebellion 

(iv) 1921 

Codes : 

 (a) (b) (c) (d) 

1) (i) (iii) (iv) (ii) 

2) (iv) (ii) (i) (iii) 

3) (iii) (iv) (i) (ii) 

4) (ii) (i) (iii) (iv) 
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102. fe'ksy cS.Vu us fdl izdkj dh Hkwfedk dk 

mYys[k ughaughaughaugha fd;k gS \ 

1) cqfu;knh Hkwfedk 

2) lEcU/kkRed Hkwfedk 

3) Lora= Hkwfedk 

4) lkekU; Hkwfedk 

  

102. Which type of role is not mentioned 

by Michael Banton ? 

1) Basic role  

2) Relational role 

3) Independent role 

4) General role 

103. lwphlwphlwphlwph - I rFkk lwphlwphlwphlwph - II dks lqesfyr dhft, 

vkSj lwfp;ksa ds uhps fn, x, dwVksa esa ls 

lghlghlghlgh mÙkj dk p;u dhft, %  

    lwphlwphlwphlwph - I 

 ¼vo/kkj.kk½¼vo/kkj.kk½¼vo/kkj.kk½¼vo/kkj.kk½    

    lwphlwphlwphlwph - II 

 ¼ys[kd½¼ys[kd½¼ys[kd½¼ys[kd½    

(a) lQsniks'k 

vijk/k 

(i) eksfjl vksiyj 

(b) ;ksX;rk ra= (ii) xkWQesu 

(c) Hkwfedk nwjh (iii) lnjyS.M 

(d) lkaLÑfrd 

ekU;rk,¡ 

(iv) ,e0 ;ax 

dwV %dwV %dwV %dwV %    

 (a) (b) (c) (d) 

1) (iii) (iv) (ii) (i) 

2) (iv) (i) (iii) (ii) 

3) (iii) (i) (iv) (ii) 

4) (i) (iv) (ii) (iii) 
 

  

103. Match List - I with List - II and 

select the correct answer from the 

codes given below the list : 

 List - I 

 (Concept) 

 List - II 

 (Authors) 

(a) White collar 

crime 

(i) Morris Opler  

(b) Meritocracy (ii) Goffman 

(c) Role 

Distance  

(iii) Sutherland  

(d) Culture 

Themes 

(iv) M. Young 

Codes : 

 (a) (b) (c) (d) 

1) (iii) (iv) (ii) (i) 

2) (iv) (i) (iii) (ii) 

3) (iii) (i) (iv) (ii) 

4) (i) (iv) (ii) (iii) 
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104. tSu leqnk; dks vYla[;d oxZ esa fdl o"kZ 
lfEefyr fd;k x;k \ 
 

1) 2013 

2) 2014 

3) 2015 

4) 2012 

  

104. In which year the Jain community 

included in the category of 

minorities ? 

1) 2013 

2) 2014 

3) 2015 

4) 2012 

105. ßlHkh euq";ksa ds fy, ,d tkfr] ,d /keZ] 
,d bZ'ojÞ dk ukjk fdlus fn;k \ 

1) isfj;kj 

2) Jh ukjk;.k xq# 

3) ch0 vkj0 vEcsMdj 

4) T;ksfrjko xksfoUnjko Qqys 

  

105. Who gave the slogan of "One caste, 

one religion, one God for all men" ? 

1) Periyar 

2) Sri Narayan Guru 

3) B. R. Ambedkar  

4) Jyotirao Govindrao Phule  

106. nq[khZe ds vuqlkj fuEufyf[kr esa ls dkSu 
;kaf=d ,drk dk lwpd gS \ 
 

(a) n.Mdkjh dkuwu 

(b) laoS/kkfud dkuwu 

(c) iz'kklfud dkuwu 

(d) O;kIr dkuwu 

uhps fn, x, dwV esa ls lghlghlghlgh mÙkj dk p;u 
dhft, % 

1) (a) vkSj (b) 

2) (a) vkSj (d) 

3) (a), (b) vkSj (d) 

4) (b), (c) vkSj (d) 

  

106. According to Durkheim, which of 

the following is an Index of 

mechanical solidarity ? 

(a) Penal Law 

(b) Constitutional Law 

(c) Administrative Law 

(d) Diffused Law 

Select the correct answer from the 

codes given below : 

1) (a) and (b) 

2) (a) and (d) 

3) (a), (b) and (d) 

4) (b), (c) and (d) 
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107. ß:jy bf.M;k bu Vªkaft'kuÞ iqLrd fdlus 

fy[kh gS \ 

1) Mh0 ih0 eq[kthZ 

2) ,0 vkj0 nslkbZ 

3) th0 ,l0 ?kq;sZ 

4) vkbZ0 ih0 nslkbZ 

  

107. "Rural India in Transition" book is 

written by whom ? 

1) D. P. Mukerji 

2) A. R. Desai 

3) G. S. Ghurye  

4) I. P. Desai 

108. xk¡oksa ds v/;;u dk chtea= ,e0 ,u0 

Jhfuokl us fdlls fy;k gS \ 

 

1) jsMfDyQ czkmu 

2) jkWcVZ jsMQhYM  

3) feYVu flaxj  

4) ,0 lh0 gSM~Mu  

  

108. From whom did M. N. Srinivas got 

the seed idea of studying India's 

villages ? 

1) Radcliffe Brown  

2) Robert Redfield  

3) Milton Singer  

4) A. C. Haddon  

109. ftdeaM ds vuqlkj vUos"k.kkRed vuqla/kku 

dk mn~ns'; D;k ughaughaughaugha gS \ 

 

1) fodYiksa dh tk¡p djuk 

2) fLFkfr dk funku djuk 

3) iFk funsZ'ku v/;;u 

4) uohu fopkjksa dks [kkstuk 

  

109. According to Zikmund, which is 

not the purpose of Exploratory 

research ?  

1) Screening alternatives 

2) Diagnosing a situation  

3) Pilot studies  

4) Discovering new ideas 
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110. Cyks.My us ncko lewg dks fdu nksnksnksnks Hkkxksa 

esa foHkDr fd;k \ 

1) lkeqnkf;d vkSj la?kkRed lewg 

 

2) laLFkkxr vkSj lkekftd lewg 

3) ldkjkRed vkSj udkjkRed lewg 

4) izn'kZudkjh vkSj fo"keLrjh; lewg 

  

110. Blondel divided pressure groups 

into which two parts ? 

1) Community and Association 

Group 

2) Institutional and Social Group 

3) Positive and Negative Group 

4) Anomic and Vertical Group 

111. ß,sfrgkfld HkkSfrdokn dFku dh vo/kkj.kkÞ 

dkyZ ekDlZ us fdl iqLrd esa nh gS \ 

 

1) n teZu vkbfM;ksykWth  

2) nkl dSfiVy 

3) n ikWoVhZ vkWQ fQykWlQh  

4) n gksyh QSfeyh 

  

111. In which book the concept of 

Historical Materialism is given by 

Karl Marx ? 

1) The German Ideology  

2) Das Capital  

3) The Poverty of Philosophy  

4) The Holy Family 

112. ß/kksjkbZÞ fuEufyf[kr esa ls fdlls lacaf/kr 

gS \ 

1) tutkrh; izFkk ls  

2) tutkrh; laLÑfr ls 

3) tutkrh; cktkj ls 

4) tutkrh; fookg ls  

  

112. "Dhorai" is related to which of the 

following ? 

1) Tribal Custom  

2) Tribal Culture 

3) Tribal Market 

4) Tribal Marriage  
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113. {kSfrt vkSj mnxz lewg dk mYys[k fdlds 

}kjk fd;k x;k gS \ 

1) feyj  

2) ,yoqM 

3) okMZ 

4) fxfMaXl  

  

113. Horizontal and vertical groups have 

been mentioned by : 

1) Miller 

2) Ellwood 

3) Ward 

4) Giddings  

114. ßlR;'kks/kd lektÞ dh LFkkiuk fdl o"kZ 

esa gqbZ \ 

1) 1873 

2) 1875 

3) 1880 

4) 1883 

  

114. In which year was "Satya Shodhak 

Samaj" established ? 

1) 1873 

2) 1875 

3) 1880 

4) 1883 

115. ßlekt'kkL= dk fo"k; {ks=] lkekftd 

laca/kksa ds Lo:iksa dk v/;;u gSÞ fdlus 

dgk gS \ 

1) gkWcgkml 

2) bekbZy nq[khZe 

3) tkWtZ flesy  

4) ftUlcxZ 

  

115. Who has said that "the scope of 

Sociology is the study of forms of 

social relationship" ? 

1) Hobhouse  

2) Emile Durkheim  

3) Georg Simmel  

4) Ginsberg 
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116. ßbf.M;u tuZy vkWQ lksf'k;ksykWthÞ fdlds 

}kjk vkjaHk fd;k x;k \  

1) th0 ,l0 ?kq;sZ 

2) ,0 vkj0 okfM;k 

3) ,u0 ds0 cksl 

4) vYcVZ foMxsjh  

  

116. Who started "The Indian Journal of 

Sociology" ? 

1) G. S. Ghurye  

2) A. R. Wadia 

3) N. K. Bose 

4) Albert Widgery  

117. DykdZ folyj ds }kjk fdrus izdkj ds 

lkaLÑfrd rÙoksa dk mYys[k fd;k x;k gS \ 

1) 14 

2) 9 

3) 7 

4) 5 

  

117. How many types of cultural traits 

has mentioned by Clark Wissler ?  

1) 14 

2) 9 

3) 7 

4) 5 

118. fuEufyf[kr esa ls dkSu-lh fo'ks"krk lekt 

dh ughaughaughaugha gS \ 

1) {ks=h;rk  

2) o`gn laLÑfr 

3) vfuok;Z lnL;rk  

4) Je foHkktu 

  

118. Which of the following is not a 

characteristic of Society ? 

1) Territory  

2) Comprehensive culture  

3) Compulsory membership  

4) Division of Labour  
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119. fdlds vuqlkj ßlekt'kkL= rkfdZd iz;ksxkRed 

foKku gSÞ \ 

1) iSjsVks 

2) eSDl oscj 

3) ikjlUl 

4) lksjksfdu 

  

119. According to whom "Sociology is 

the Logico-experimental science" ? 

1) Pareto  

2) Max Weber 

3) Parsons 

4) Sorokin  

120. fofHkUu fo'ofo|ky;ksa ds egkfo|ky; 

fo|kfFkZ;ksa esa eknd nzO; O;lu dk fofHkUu 

o"kksZa esa v/;;u djuk dkSu-lh vuqla/kku 

izjpuk dk mnkgj.k gS \  

1) o.kZukRed  

2) vUos"k.kkRed 

3) O;k[;kRed 

4) fØ;kRed vuqla/kku 

  

120. A study of drug abuse among college 

students in different universities in 

different year's is an example of 

which type of research design ? 

1) Descriptive 

2) Exploratory  

3) Explanatory  

4) Action Research  

121. fofHkUu v/;;uksa ds fy, Mh0 ih0 eq[kthZ 

us fdl i)fr dk mi;ksx fd;k \ 

1) nk'kZfud i)fr 

2) euks-lekt'kkL=h; i)fr  

3) lEiw.kZrkoknh i)fr 

4) lHkh fodYi lgh gSa  

  

121. Which methodology did D. P. 

Mukerji use for various studies ?  

1) Philosophical method 

2) Psycho-Sociological method 

3) Holistic method 

4) All options are right 
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122. fuEufyf[kr esa ls dkSu-lk vlajfpr 
lk{kkRdkj dk izdkj ughaughaughaugha gS \ 
1) dsfUnzr lk{kkRdkj  

2) iqujko`fÙk lk{kkRdkj 

3) uSnkfud lk{kkRdkj 

4) vkdfLed lk{kkRdkj 

  

122. Which of the following is not the 

type of Unstructured Interview ? 

1) Focused Interview 

2) Repetitive Interview 

3) Clinical Interview 

4) Casual Interview 

123. lwphlwphlwphlwph - I dks lwphlwphlwphlwph - II ds lkFk lqesfyr 
dhft, rFkk uhps fn, x, dwV ds vuqlkj 
lghlghlghlgh mÙkj dk p;u dhft, %  

    lwphlwphlwphlwph - I 

 ¼¼¼¼;kstuk;kstuk;kstuk;kstuk½½½½    

    lwphlwphlwphlwph - II 

 ¼¼¼¼o"kZo"kZo"kZo"kZ½½½½    

(a) jk"Vªh; xzkeh.k 

vkthfodk 

fe'ku 

(i) 2000 

(b) iz/kkuea=h xzke 

lM+d ;kstuk 
(ii) 2011 

(c) dkS'ky fodkl 

;kstuk 
(iii) 2014 

(d) lkaln vkn'kZ 

xzke ;kstuk 
(iv) 2015 

dwV dwV dwV dwV %    

 (a) (b) (c) (d) 

1) (i) (iii) (iv) (ii) 

2) (iv) (ii) (iii) (i) 

3) (iii) (iv) (i) (ii) 

4) (ii) (i) (iv) (iii) 
 

  

123. Match List – I with List – II and 

select the correct answer using the 

codes given below the lists : 

 List – I 

 (Yojana) 

 List – II 

 (Year) 

(a) National Rural 

Livelihood 

Mission 

(i) 2000 

(b) Pradhanmantri 

Gram Sadak 

Yojana 

(ii) 2011 

(c) Kaushal Vikas 

Yojana 

(iii) 2014 

(d) Sansad Adarsh 

Gram Yojana 

(iv) 2015 

Codes : 

 (a) (b) (c) (d) 

1) (i) (iii) (iv) (ii) 

2) (iv) (ii) (iii) (i) 

3) (iii) (iv) (i) (ii) 

4) (ii) (i) (iv) (iii) 
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124. ^vkRegR;k ds v/;;u* ds fy, nq[khZe us 

fdl v/;;u i)fr dk iz;ksx fd;k \ 

1) iqLrdh; i)fr 

2) lkaf[;dh i)fr 

3) izdk;kZRed i)fr 

4) oSKkfud i)fr 

  

124. Which study method did Durkheim 

opt to 'The Study of Suicide' ?  

1) Textual method  

2) Statistical method 

3) Functional method 

4) Scientific method 

125. ßfMtkbu vkWQ lks'ky fjlpZÞ iqLrd ds 

ys[kd dkSu gSa \ 

1) lh0 ,0 ekstj 

2) ,0 ,Q0 osYl 

3) tsEl Cysd  

4) ,dkWQ jlsy 

  

125. Who is the author of the book 

"Design of Social Research" ? 

1) C. A. Moser 

2) A. F. Wells  

3) James Black 

4) Ackoff Russell  

126. th0 ,l0 ?kq;sZ dks muds dk;ksZa ds fy, 

tkuk tkrk gS % 

(a) Hkkjrh; dyk 

(b) fodkl dk jkLrk 

(c) u`tkfr'kkL= 

(d) lkekftd iqufuZekZ.k  

uhps fn, x, dwV esa ls lghlghlghlgh mÙkj dk p;u 

dhft, % 

1) (a), (b) vkSj (c) 

2) (b), (c) vkSj (d) 

3) (b) vkSj (c) 

4) (a) vkSj (c) 

  

126. G. S. Ghurye is known for his work 

on : 

(a) Indian Art 

(b) Path of Development  

(c) Ethnicity  

(d) Social Reconstruction 

Select the correct answer from the 

codes given below : 

1) (a), (b) and (c) 

2) (b), (c) and (d) 

3) (b) and (c) 

4) (a) and (c) 
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127. lafo/kku dk dkSu-lk vuqPNsn vkfne dY;k.k 

ea=h dh fu;qfDr ls lacaf/kr gS \ 

 

1) vuqPNsn 163 

2) vuqPNsn 164 

3) vuqPNsn 168 

4) vuqPNsn 172 

  

127. Which article of the constitution 

deals with appointment of minister 

incharge of tribal welfare ? 

1) Article 163 

2) Article 164 

3) Article 168 

4) Article 172 

128. fuEufyf[kr esa ls dkSu-lk ,d i;kZoj.kh; 

vkUnksyu ughaughaughaugha gS \ 

1) fpidks vkUnksyu 

2) vfIidks vkUnksyu 

3) fc'uksbZ vkUnksyu 

4) Hkxr vkUnksyu 

  

128. Which one of the following is not 

an Environmental Movement ? 

1) Chipko Movement 

2) Appike Movement 

3) Bishnoi Movement  

4) Bhagat Movement 

129. LisUlj us fofHkUu laLÑfr;ksa ds rqyukRed 

v/;;u ds fy, fdl i)fr dk iz;ksx 

fd;k \ 

1) ijh{kk.kkRed 'kks/k i)fr 

2) O;kogkfjd 'kks/k i)fr 

3) vkuqHkkfod 'kks/k i)fr 

4) oS;fDrd v/;;u i)fr 

  

129. Which method did Spencer use for 

comparative study of different 

culture ?  

1) Experimental research method 

2) Applied research method 

3) Empirical research method 

4) Case study method 
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130. ukrsnkjh esa oxkZRed ,oa o.kkZRed laKk,a nh 

gSa % 

1) eqjMkWd us  

2) Vk;yj us  

3) ystyh OgkbV us  

4) ekWxZu us 

  

130. Classificatory and descriptive 

terminology in kinship is given by : 

1) Murdock  

2) Tylor 

3) Lesli Whyte  

4) Morgan  

131. lwphlwphlwphlwph - I ds lkFk lwphlwphlwphlwph - II dks lqesfyr 

dhft, % 

    lwphlwphlwphlwph - I     lwphlwphlwphlwph - II 

(a) bjkorh dosZ (i) LVsV ,s.M lkslkbVh 

bu bf.M;k 

(b) vkj0 ds0 

eq[kthZ 

(ii) n fgLVªh vkWQ 

bf.M;k 

(c) jksfeyk Fkkij (iii) fgUnw lkslkbVh % 

,su baVjfizVs'ku 

(d) ,0 vkj0 

nslkbZ 

(iv) jhtuy 

lksf'k;ksykWth 

uhps fn, x, ladsrd mi;ksx djds lghlghlghlgh 
mÙkj pqusa % 

 (a) (b) (c) (d) 

1) (ii) (i) (iv) (iii) 

2) (iii) (iv) (ii) (i) 

3) (iv) (i) (iii) (ii) 

4) (ii) (iii) (i) (iv) 
 

  

131. Match List - I with List - II : 

 

    List - I  List - II 

(a) Irawati 

Karve 

(i) State and Society 

in India 

(b) R. K. 

Mukerjee 

(ii) The History of 

India 

(c) Romila 

Thapar 

(iii) Hindu Society : An 

Interpretation 

(d) A. R. 

Desai 

(iv) Regional 

Sociology 

 

Select the correct answer using 

the codes given below : 

 (a) (b) (c) (d) 

1) (ii) (i) (iv) (iii) 

2) (iii) (iv) (ii) (i) 

3) (iv) (i) (iii) (ii) 

4) (ii) (iii) (i) (iv) 
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132. fuEufyf[kr esa ls dkSu-lk dFku xyrxyrxyrxyr gS \ 

 

1) lkekthdj.k Lo dks tkx`r djrk gSA 

2) lkekthdj.k vUrr% izfLFkfr ls c¡/kk 

gqvk gSA 

3) lkekthdj.k izÑfr vkSj i;kZoj.k ds 

izHkko dk ifj.kke gSA 

4) lkekthdj.k izrhdkRed okLrfodrk gSA 

  

132. Which of the following statement is 

incorrect ? 

1) Socialization awakens self.  

2) Socialization is bound up with 

status. 

3) Socialization is the result of 

nature and environment.  

4) Socialization is symbolic reality.  

133. fuEufyf[kr esa ls dkSu-lk ;qXe lqesfyr 

ughaughaughaugha gS \ 

1) fgUnw fo/kok iqufoZokg 

vf/kfu;e     – 

 

1856 

2) ngst fu"ks/k vf/kfu;e   – 1961 

3) dk;ZLFky ij efgyk mRihM+u 

ls laj{k.k vf/kfu;e    – 

 

2013 

4) vuSfrd O;kikj ¼fuokj.k½ 

vf/kfu;e    – 

 

1981 
 

  

133. Which of the following pairs is not 

matched ? 

1) Hindu Widows 

Remarriage Act      – 

 

1856 

2) Dowry Prohibition Act      – 1961 

3) Sexual Harassment at 

Workplace Protection Act  – 

 

2013 

4) The Immoral traffic 

(Prevention) Act      – 

 

1981 
 

134. oSfj;j ,fYou us fuEufyf[kr esa ls fdl 

tutkfr dk v/;;u fd;k gS \ 

1) dekj  

2) eqfj;k 

3) eq.Mk 

4) VksMk 

  

134. Which one of the following tribe is 

studied by Verrier Elwin ? 

1) Kamar 

2) Muria 

3) Munda 

4) Toda  
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135. fuEu esa ls dkSu-lk ;qXe lqesfyr ughaughaughaugha gS \ 

 

1) ds0 ds0 nÙkk & n laFkky fonzksg 

 

2) ,y0 ih0 ekFkqj & Hkhy vkUnksyu 

3) ts0 lh0 >k & dkSy vkUnksyu 

4) xkSre Hknzk & ukxk vkUnksyu 

  

135. Which of the following pairs is not 

matched ? 

1) K. K. Dutta – The Santhal 

Rebellion  

2) L. P. Mathur – Bhil Movement 

3) J. C. Jha – Kol Movement 

4) Gautam Bhadra – Naga  

Movement 

136. jk/kkdey eq[kthZ dh iqLrd ßlks'ky 

bdksykWthÞ esa fdrus v/;k; gSa \ 

 

1) 9 

2) 12 

3) 15 

4) 18 

  

136. How many chapters are there in 

Radhakamal Mukerji book "Social 

Ecology" ? 

1) 9 

2) 12 

3) 15 

4) 18 

137. ßfoLr`r vFkZ esa oSKkfud i)fr O;ofLFkr 

voyksdu] oxhZdj.k ,oa fuoZpu gSAÞ fdlus 

ifjHkkf"kr fd;k gS \ 

 

1) cukZMZ 

2) xqMs ,oa gsV 

3) yq.McxZ 

4) ih0 oh0 ;ax 

  

137. Who defined "Broadly speaking 

scientific method consists of 

systematic observation, classification 

and interpretation of data" ? 

1) Bernard  

2) Goode and Hatt 

3) Lundberg  

4) P. V. Young 
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138. ekslZ vk;ksx fdlls lacaf/kr gS \ 

1) ljnkj ljksoj ck¡/k 

2) Vsgjh ck¡/k 

3) xk¡/kh lkxj ck¡/k 

4) ghjkdqM ck¡/k 

  

138. Morse Commission is related to : 

1) Sardar Sarovar Dam 

2) Tehri Dam 

3) Gandhi Sagar Dam 

4) Hirakud Dam 

139. dkWEVs us fuEufyf[kr esa ls lekt'kkL= ds 

v/;;u ds fy, dkSu-lh fof/k dk mYys[k 

ughaughaughaugha fd;k gS \ 

1) voyksdu fof/k 

2) oS;fDrd v/;;u fof/k 

3) rqyukRed fof/k 

4) ,sfrgkfld fof/k 

  

139. Which of the following method has 

not been mentioned by Comte for 

the study of Sociology ? 

1) Observation method 

2) Case study method 

3) Comparative method 

4) Historical method 

140. Hkkjr esa LekVZ flVh fe'ku dc vkjaHk 

fd;k x;k Fkk \ 

1) 2 vDVwcj] 2013 

2) 2 vDVwcj] 2014 

3) 25 twu] 2014 

4) 25 twu] 2015 

  

140. When was the Smart City Mission 

launched in India ? 

1) 2 October, 2013 

2) 2 October, 2014 

3) 25 June, 2014 

4) 25 June, 2015 
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141. fuEufyf[kr esa ls dkSu-lh bdkbZ tulapkj 

ls lacaf/kr ughaughaughaugha gS \ 

1) le; 

2) lzksr 

3) y{; 

4) lans'k 

  

141. Which of the following unit is not 

related to Mass Communication ? 

1) Time 

2) Source 

3) Goal  

4) Message 

142. gsujh tkWulu ds vuqlkj fuEu esa ls dkSu-lh 

fo'ks"krk lkekftd vuqla/kku dh ughaughaughaugha gS \ 

 

1) vkuqHkkfod  

2) lap;h 

3) vrkfdZdrk  

4) lS)kfUrd  

  

142. According to Henry Johnson which 

of the following is not characteristic 

of scientific research ? 

1) Empirical  

2) Cumulative  

3) Irrationality  

4) Theoretical 

143. yqbZl oFkZ }kjk 'kgjhdj.k dh fLFkfr 

fu/kkZfjr djus ds fy, fdl ekun.M dh 

igpku ughaughaughaugha dh xbZ gS \ 

1) vkdkj 

2) ?kuRo 

3) tula[;k dh le:irk  

4) tula[;k dh fo"kerk 

  

143. Which criteria is not identified by 

Louis Wirth to determine the 

degree of Urbanism ?  

1) Size  

2) Density 

3) Homogeneity of population  

4) Heterogeneity of population  
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144. lrh'k lcjoky ds erkuqlkj fuEufyf[kr 

esa ls dkSu-lk igyw vkSifuosf'kd Hkkjr esa 

vk/kqfud ifjorZuksa dh :ijs[kk ls lacaf/kr 

ughaughaughaugha gS \ 

1) lapkj ds ek/;e 

2) fopkjksa dh izÑfr 

3) mRiknu ds lk/ku 

4) laxBuksa ds Lo:i 

  

144. According to Satish Sabarwal 

which of the following aspects is 

not related to the frame work of 

modern changes in colonial India ? 

1) Mode of communication 

2) The nature of ideas  

3) Means of production 

4) Forms of organization 

145. fdlds }kjk lkekftd xfr'khyrk dks nks 

rjhdksa ßizk;ksftr rFkk izfr;ksxhÞ esa oxhZÑr 

fd;k x;k gS \ 

1) MCY;w0 ih0 LdkWV 

2) ih0 ,0 lksjksfdu  

3) vkj0 VuZj  

4) ,l0 ,e0 feyj 

  

145. By whom social mobility is 

classified in two ways "Sponsored 

and Competitive ? 

1) W. P. Scot 

2) P. A. Sorokin 

3) R. Turner  

4) S. M. Miller  

146. ßtkfr dks inØe tUeizfLFkfr lewgÞ fdlus 

dgk gS \ 

1) lsukVZ 

2) Mh0 ,u0 etwenkj 

3) th0 ,l0 ?kq;sZ 

4) dSFkyhu xQ 

  

146. Who has considered "Caste as a 

ranked birth status group" ? 

1) Senart  

2) D. N. Majumdar 

3) G. S. Ghurye  

4) Kathleen Gough  
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147. ßxk¡o dks thou fof/k ds :i esaÞ fdlus 

ifjHkkf"kr fd;k gS \ 

1) Vh0 ,u0 enku 

2) Mh0 ,u0 etwenkj  

3) ,l0 lh0 nqcs 

4) eSfde eSfj;V 

  

147. Who has defined "The village as a 

way of life" ? 

1) T. N. Madan  

2) D. N. Majumdar 

3) S. C. Dube 

4) Mackim Marriot  

148. fuEufyf[kr esa ls dkSu-lk cfgfoZokg dk 

Lo:i ughaughaughaugha gS \ 

1) xkS= cfgfoZokg 

2) Js.kh cfgfoZokg 

3) izoj cfgfoZokg 

4) xzke cfgfoZokg 

  

148. Which of the following is not a 

form of Exogamy ? 

1) Gotra Exogamy 

2) Class Exogamy 

3) Pravar Exogamy 

4) Village Exogamy 

149. izksQslj vkUnzs csrsbZ lekt'kkL= ds fdl 

Ldwy ls lEcfU/kr gSa \ 

1) y[kuÅ 

2) fnYyh 

3) cEcbZ 

4) dydÙkk 

  

149. Professor Andre Beteille is related 

with which school of Sociology ? 

1) Lucknow 

2) Delhi 

3) Bombay 

4) Calcutta 
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150. ßfMlsfcfyVh LVMht+ bu bf.M;k % 

jsVªksLisDV~l ,.M izkWlisDV~lÞ iqLrd fdlus 

fy[kh \ 

1) th0 ,u0 d.kZ 

2) vfurk ?kbZ 

3) g"kZ eanj 

4) ts0 vkj0 dkEcys  

  

150. Who wrote the book "Disability 

Studies in India : Retrospects and 

Prospects" ? 

1) G. N. Karna 

2) Anita Ghai 

3) Harsh Mander 

4) J. R. Kamble 
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6. iz'uksa ds mÙkj] mÙkj i=d esa fu/kkZfjr [kkuksa dks dkys ckWy IokbaV iSu ls 
iw.kZr;k Hkjuk gS] tSlk fd uhps fn[kk;k x;k gS % 
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tk,xkA 

  6. Answers   to  questions  in answer sheet are  to  be  given by 

darkening complete circle using Black ball point pen as shown 

below : 

1    �    3    4 

The answer will be treated wrong, if it is marked, as given below : 

�    �    �    � 

If you fill more than one circle it will be treated as a wrong 

answer. 

7. jQ dk;Z iz'u&iqfLrdk esa bl iz;kstu ds fy, nh xbZ [kkyh txg ij gh djsaA / Rough work should be done only in the space provided in the 

Question Booklet for the same. 

8. lHkh mÙkj dsoy OMR mÙkj i=d ij gh vafdr djsaA vius mÙkj /;kuiwoZd vafdr djsaA mÙkj cnyus gsrq 'osr jatd ¼lQsn ¶Y;wM½ dk iz;ksx fuf"k) gSA / 
The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener (white fluid) is not 

allowed for changing answers. 

9. izR;sd iz'u ds fy, fn, x, pkj fodYiksa esa ls mfpr fodYi ds fy, OMR mÙkj i=d ij dsoy ,d o`Ùk dks gh iwjh rjg dkys ckWy IokbaV iSu ls HkjsaA 
,d ckj mÙkj vafdr djus ds ckn mls cnyk ugha tk ldrk gSA / Out of the four alternatives for each question, only one circle for the most 

appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer Sheet. The answer once marked is 

not allowed to be changed. 

10. vH;FkhZ lqfuf'pr djsa fd bl mÙkj i=d dks eksM+k u tk, ,oa ml ij dksbZ vU; fu'kku u yxk,¡A vH;FkhZ viuk vuqØekad mÙkj i=d esa fu/kkZfjr LFkku 
ds vfrfjDr vU;= u fy[ksaA / The candidates should ensure that the Answer Sheet is not folded. Do not make any stray mark on the 

Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer Sheet. 

11. iz'u&iqfLrdk ,oa mÙkj i=d dk /;kuiwoZd iz;ksx djsa] D;ksafd fdlh Hkh ifjfLFkfr esa [iz'u&iqfLrdk ,oa mÙkj i=d ds Øekad esa fHkUurk dh fLFkfr dks 
NksM+dj] nwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhAnwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhAnwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhAnwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhA / Handle the Question Booklet and Answer Sheet with care, as under no 

circumstances [except for discrepancy in Question Booklet and Answer Sheet Serial No., another set of Question Booklet will not 

be provided.] 

12. iz'u&iqfLrdk@mÙkj i=d esa fn, x, Øekad dks vH;FkhZ lgh rjhds ls gLrk{kj pkVZ esa fy[ksaA / The candidates should write the correct Number as 

given in the Question Booklet/Answer Sheet in the Signature Chart. 

13. vH;FkhZ dks ijh{kk gkWy@d{k esa izos'k i= vkSj igpku i= ds vfrfjDr fdlh izdkj dh ikB~;&lkexzh] eqfnzr ;k gLrfyf[kr dkxt dh ifpZ;k¡] istj] eksckby 
Qksu] bysDVªkWfud midj.k ;k fdlh vU; izdkj dh lkexzh dks ys tkus ;k mi;ksx djus dh vuqefr ugha gSA / Candidates are not allowed to carry any 

textual material, printed or written, bits of papers, pager, mobile phone, electronic device or any other material except the Admit 

Card and Identity Card inside the examination hall/room. 

14. i;Zos{kd }kjk iwNs tkus ij izR;sd vH;FkhZ viuk izos'k dkMZ [jksy ua0] vkSj igpku i= fn[kk,¡A / Each candidate must show on demand his/her 

Admit Card [Roll No.] and identity card to the Invigilator. 

15. dsUnz v/kh{kd ;k i;Zos{kd dh fo'ks"k vuqefr ds fcuk dksbZ vH;FkhZ viuk LFkku u NksMa+sA / No candidate, without special permission of the 

Superintendent or Invigilator, should leave his/her seat. 

16. dk;Zjr i;Zos{kd dks viuk mÙkj i=d fn, fcuk ,oa gLrk{kj pkVZ ij nksckjk gLrk{kj fd, fcuk vH;FkhZ ijh{kk gkWy ugha NksMa+sxsA ;fn fdlh vH;FkhZ us 
nwljh ckj gLrk{kj pkVZ ij gLrk{kj ugha fd, rks ;g ekuk tk,xk fd mlus mÙkj i=d ugha ykSVk;k gS vkSj ;g vuqfpr lk/ku dk ekeyk ekuk tk,xkA 
OMR    mÙkj i=d esa fu/kkZfjr LFkku ij lHkh vH;fFkZ;ksa }kjk ck;sa gkFkmÙkj i=d esa fu/kkZfjr LFkku ij lHkh vH;fFkZ;ksa }kjk ck;sa gkFkmÙkj i=d esa fu/kkZfjr LFkku ij lHkh vH;fFkZ;ksa }kjk ck;sa gkFkmÙkj i=d esa fu/kkZfjr LFkku ij lHkh vH;fFkZ;ksa }kjk ck;sa gkFk    ds vaxwBs dk fu'kku yxk;k tkuk gSA vaxwBs dk fu'kku yxkrs le; bl ckr dk ds vaxwBs dk fu'kku yxk;k tkuk gSA vaxwBs dk fu'kku yxkrs le; bl ckr dk ds vaxwBs dk fu'kku yxk;k tkuk gSA vaxwBs dk fu'kku yxkrs le; bl ckr dk ds vaxwBs dk fu'kku yxk;k tkuk gSA vaxwBs dk fu'kku yxkrs le; bl ckr dk 
/;ku j[kk tk, fd L;kgh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh cgqr deA/;ku j[kk tk, fd L;kgh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh cgqr deA/;ku j[kk tk, fd L;kgh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh cgqr deA/;ku j[kk tk, fd L;kgh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh cgqr deA / The candidates should not 
leave the Examination Hall without handing over their Answer Sheet to the Invigilator on duty and signing the Signature Chart 

twice. Cases where a candidate has not signed the Signature Chart second time will be deemed not to have handed over the 

Answer Sheet and dealt with as an unfair means case. All candidates have to affix left hand thumb impression on the OMR 

answer sheet at the place specified which should be properly inked i.e. they should not be either over inked or dried in 

nature. 

17. bysDVªkWfud@gLrpkfyr ifjdyd dk mi;ksx oftZr gSA / Use of Electronic/Manual Calculator is prohibited. 

18. ijh{kk gkWy esa vkpj.k ds fy,] vH;FkhZ foojf.kdk esa nh xbZ izfØ;k@fn'kk&funsZ'k o cksMZ ds lHkh fu;eksa ,oa fofu;eksa dk fo'ks"k /;ku j[ksaA vuqfpr lk/kuksa ds 
lHkh ekeyksa dk QSlyk cksMZ ds fu;eksa ,oa fofu;eksa ds vuqlkj gksxkA / The candidates are governed by Guidelines/Procedure given in the 

Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in the Examination Hall. All cases of unfair 

means will be dealt with as per Rules and Regulations of the Board. 

19. fdlh gkyr esa iz'u&iqfLrdk vkSj mÙkj i=d dk dksbZ Hkkx vyx u djsaA (No part of the Question Booklet and Answer Sheet shall be detached 

under any circumstances. 

20. ijh{kk lEiUu gksus ij] vH;FkhZ d{k@gkWy NksM+us ls iwoZ mÙkj i=d d{k&i;Zos{kd dks vo'; lkSai nsaA vH;FkhZ vius lkFk bl iz'u&iqfLrdk dks ys tk ldrs 
gSaA / On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the Room/Hall. The candidates 

are allowed to take away this Question Booklet with them. 
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